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cos CL = X2  - XI ,cosg  ,y2  - Yl,cosy=  22
- ZI . . . . . . . . . . . . . . . . . . . . . . (1.3.1)

d d

b&I  d = Jp,P,(  = (x2  - x1)’ + (y, - yJ2  + (z2  - q)*

cos2  a + co2 $ +  co2  y = (X2 - XII2  + (Y2  - Y,j2 + (3 - z1)
d2 d2 d2

@2 - x,12  + (Y2 - Y,12  + QQ - q2=
d2

cos a = 5, cos B = y, cosy = ~...............................................(1.3.2)
P P 5
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94 s
asm cos cx = 6

f J36 + 4 + 9

cos fj = 2
+7

cosy = -3
1 7

cosa=  -$

cos  B = -5

COSY = 3
i

22 M A 2 1 3









MJ¶JzJniY~  1.3 '

3hnwmluosr~L3n~~  l5JLUOS  ~Lathawic4  ‘bnbld  ~lPSaoElLNk&4

6jddff 'baern'lnMnil8~~ffnl~~l~~~~~~~~~~~~~~~~~

1. (0, 0, O),  (1,  -8, 4)

2. (2, 9, 6), (6, 2, 2)

3 . (5, 7, -I), (-7, 3, 2)

4 . (- 1,  4, 7), (5, 2, 4)

5 . (4, -2, 3). (7, 2, 4)

6 . (2, 9, -3h  (3, 4, 5)

7 .  6,-7,6

8. 9, 6, -2

9 .  2,-l,2

10. -3, -18, -14

11. -5, -3, -6

12. 4, 1, 3

1 3 . 01 = 45”,8  = 60”

14. a = 9O”,Y  = 120”

1 5 . B =211,-r=  11
T 3-

1 6 . ~1 = 211, B = 311
3 4
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1.6 5101’itl&pdBl~9  (Equation of a line)

1.5.1 The Symmetric form

x - x
1

= cos ci
d

Y - YL = cos 6
d

z - z1 = cos Y
d

d = x - x  =y-y  =z-z,
cos a cos fj cos y

MsiO x - x, =  y - y ,  =  z - z , . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (1.5.1)
- - -
cos 0. cos fj cos y
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Y - Y1 z - ZI

c o s  fJ  =-cos y

x-x
I

z - z,
=-

cos a cos y

x - x1 Y - Y, z - ZI . . . . . . . . . . . . . . . . . . . . . . . . . . (1.54
zz

b
=-

a C

x - x1  = 0, Y - Y ,  = z-z,
cos $ cos y
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X=X ,' Y - Y1 z - z, (abum.wt9amfkun~  x)
b

=
c

Y=Y,,  x-x, z - z, (GumasiYm7nrhinu  Y)
zz

a c

z=z 1 ’ x - x, = y - Yl (Guas+&mnfh~~nu  2)
a b

x-x z-z
1=Y=y1

. . . . . . . . . . . . . . . . . . . . . . . . . . . (1.5.3)

x2 - Xl y2 - YI z2  -  5
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apln bbkx

co.7  Q = p
F

%$a p = PCOS~  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

mnwaml5  (1.4.1) xWh

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (1.6.1)

cos$d  = cosacosa’+  cos~cosfj’+  cosycosy

ttYId1  COS b ~I.WJni~  (1.6.1)  xb%i

p = ~~os~cos~L’+  pcOs~COs~‘+  pCOsycos~’ . . . . . . . . . . . . . . . . . . . . . . . . . . . . (1.6.2)

PlnW7115  (1.3.2) d&h

p cos a’ = x, p cos fj  ‘= y,  p cos Y’ = z

tt~Pr~ltMdl~~~~UTll5 (1.6.2) %%I

p = xcosa + ycosf3  + zcosy

’. . xcosa + ycos (3 + zcosy  - p = 0 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (1.6.3)

wnia  (1.6.3)  a%mdi RUn7a~fU7YUUUMOiUUa
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c

(Plane through a given paint perpendicular to a given tine)

A(x ~ x0) + B(y - y,) + C(7 - z,,) = 0 . . .._......................  (1.6.8)

Ax + By + Cz + D = 0 ._.......___....___......_......_.......................... (1.6.9)
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-46A -5lA t 78A=
-1s

3x - 4 y + 22 + 5 = 0 Wbll

94 0

-dtiTll

4(x - 2) + O(y  ~ 1) - 2(z  - 3) = 0

4x - 8 - 2z + 6 = 0

4x-22-2=0

2x - z - 1 = 0 FImJ

m”aadlswd  1.8.5

(6, 1, 2), 6A + B + 2C + D = 0.. ......................................... (1)

(3,4,4),  3A + 4B + 4C + D = 0.. ........................................ (2)
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